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Answer Sheet: Advanced Exam Tricks- 2

Choose the correct answer.

Q1 - Everyonewas........ by her speech and listened intently

I:I captured

D caught

V' captivated

D taken up

Q2 - You areunder no obligation ........... to sign the contact

I:I wher ever

I:I mor eover

D indeed

v whatsoever

Q3-The............ of the contract state that employees must give two months' notice
v terms
D regulations
|:| laws
|:| small print
Q4 - Could you ....... a few potatoesfor me?
D Carve
v Ped
|:| Mince
D Shave

had the plane touched down than customs officials boar ded it

Hard
Only when
Usually
No sooner

Copyright © 2002 - 2024 UsingEnglish.com Ltd.- All rights reserved

This answer sheet can be used by teachers without any fee in the classroom; however, you must keep all copyright information and

references to UsingEnglish.com in place.
View the worksheet online at: https://dev.usingenglish.com/handouts/161.html



https://dev.usingenglish.com/handouts/161.html

UsingEnglish.com

SINCE 2002
Q6 - The new motorway hasthree.......... in each direction
|:| roads
v' lanes
D ways
|:| rows
Q7 - | suggest .......... the small print before you sign that contract
v" you read
D you to read
I:I do you read
I:I for reading

Q8 - The TV show has been an instant success and isdoing well in the........

v" ratings

D polls

D circulation

D opinion

Q9 - Shoplifterswill be........

D per secuted
v' prosecuted
D prohibited
D prevented

Q10 - If only people...... be mor e consider ate!

D might

D may
v would
[]

should
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Q11 - He'shappy becausehe.......... the exam
passed

v
|:| failed
D succeeded

D did

Q12 - Shewas...... responsible for the accident

D done
I:I taken
D decided
v held
Q13 - Early retirement gave him moretimeto .......... his own interests

D look for
D chase

v pursue

D take

Q14 - Weareall wdl ....... of your qualifications; there'sno need to tell usagain.
I:I knowledge
I:I knowledgeable
v aware
D acquainted

Q15 - Several peoplewere hurt when thetrain cameto asudden ........

I:I delay

halt

v
D stand

brake
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Q16 - Hunger hasdecreased in some areas, ........... in othersit hasincreased

D unlike

I:I despite

v whereas
D as opposed

Q17 -1 didn't set ........ to cause any trouble; it just happened that way

I:I up
v out
I:I off
D about

Q18 - The more expensive one seemsto be a better choice....... it will last alot longer
|:| in view of
v inthat
D by dint of

D dueto

Q19 - Theworkerswent ....... strikefor better working conditions

(] to
I:I in
v on

|:| into

Q20 - The company was........ up after a disastrous year
v' wound
D folded
L] put
D taken
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Q21 - The company hasto makethirty workers....... to save money

|:| sacked
I:I fired

v redundant
D unemployed

Q22 -Wearrived in ..... timefor theflight

v good

I:I just
plenty
high

Q23 - It took him two weeksto get ........ theinfection

I:I through
I:I into
I:I by
v

over

Q24 - ... for the police, there would have been alot moretrouble

I:I Ifitwere

v/ Had it not been
[]  Unlessit had been
D Ifit had been

Q25 - The management and union went to ............. to resolve the problems
D negotiation
D discussion
I:I agreement
v' arbitration
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Q26 - MrsWright ........ the meeting

chaired
led
managed
directed

LT <

Q27 -1 was....... theimpression that he was coming

Q28 - Her work was praised for its......... attention to detail

D subtle
D concentr ated
v" meticulous

significant

Q29 - Theinformation was....... to the press by an informer inside the company

I:I filtered
D said
|:| passed
v

leaked

Q30 - | couldn't get a replacement because the shop didn't haveany in ...........

v stock
supply
store
shop

L0
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